Chapter Review fm
| o

1-1 Understanding Points, Lines, and Planes J

Draw and label each of the following.

1. a segment containing the points A and B

2. a ray with endpoint M that passes through N

4. three coplanar lines intersecting in one point.

Name each of the following.

5. three coplanar points ﬁC:D_ il Vany el
, . B swuswil| o]

6. a line contained in.neither plane ! N L oD
e Oy | B G
% 7. a segment contained in plane R BE :

- = F
8. a line contained in both planes BE
B

1-2 Measuring and Constructing Segments

Find the length of each segment.

A B C
e
-5 0 5
9. AB 10. BC 11.AC
g T R ol
) - —
j{{.SketCh, draw, and construct a segment congruent to EF. E F

s - - - — - e - - . - . . S
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A Il B xC

13. Bis between A and C. AC = 24 and BC = 11. Find a8, B3 24~
: [ 26 3| T

14.;;ibt;:;veen Xand. Z. i . 4 Q‘{-&% aU"(,3X-r Z)

thmncémssm a aRE z Ao -3y -2

Mis th-gonqi oint of AB. AM = 9x — 6, and BM = 6x + 27. a4-3 X
. : Ix-lp , lx+37
T iy P — M B

Ela 43 93 AX-b =bx+2aT

401) -6 =99-le LUI)+27 A% =X+ 33

1-3 Measuring and Constructing Angles llo+27 3x =33

18. Name all the'_angles in the diagram. (_‘__'4 X=N
A EFH, £ HEG, 4EFG .

Classify each angle by its measure. .

15. Find x. 16. Find AM. 17. Find BM. H';

19. mZXYZ = 89° 20.m£PQR = 150° 21.m/BRZ = 90°

_Qeute _Obtust _right

22. MT bisects £LMP, m£LMT, = (3x + 12)°, and 777+
m/ TMP, = (6x — 24)°. Find m 2 LMP. sq_bm

m

R P
PR s Syl =leX Y
P e iy 12 =3x -ay
oy 3w =3%

- Tell whether the angles are only adjacent, adjacent and form a linear pair,
or not adjacent.

24. /2 and £3 OYllljaCLIaCGﬂt

;Q Use a protractor and a straightedge to draw
‘an 80° angle. Then bisect the angle.

1-4 Pairs of Angles

aa%acmf
25. /3 and <4 . INCAY palr
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2. s3and 21 CIHher

If m£A = (7x — 12)°, find the measure of each of the following.

27. supplement of LA | 28. complement of LA
(4371)" (oz=wy
|80-C1x-12) =180-1x+12 90-C7x-12)=9p- 7x+,2,

1-5 Using Formulas in Geometry

10 =7x

Find the perimeter and area of each figure.

29, 4x 30.H

P= Hx+ax+§+3x-2 P=4(12x) =ygx
P= 9xX+l 1125 B =()ax)Ee oy
A = L (4xXY 2x48 Px+ 8 e
B =2x(2x+§) l
A= Hx ¥ lex

31. (H‘E)’-rb =2t %2 = p=a(0)+alx-3)
A=1 (45 12) 12cm 0.5 ¥p*= 1YY P=Yx+ 2X -0
. 2 b*= 12375 4+ +x-3 P=loX -l
B e b=11.12
-0y ok 4 REaX(x3)
P=[aria+9q 45 9cm kS 1 A 2 2> X

oM [P=gsum;n=50.00 iM% (PElxcloun, B 2%P-Lxun®

33. Find the circumference and area of a circle with radius 9 in. Use the = key
B=T (Oﬁ on your calculator and round to the nearest tenth.

o5 | BEATABINE, (BB

(= 31‘-%“) 1-6 Midpoint and Distance in the Coordinate Plane

Cs= 519 ¥ 34. Find the coordinates of the mrdp;nnt of AB \w)r(h endpomts A( —2, 8), and
iR n B(_4__1) M—(—(—~ U__C_?' >=( 2_,) ->M (,57-6)

wi omsba ey
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35. S is the midpoint of AT, A has coordinates (—4, —3) and S has coordinates
(3, 5). Find the coordinates of T. 2 _ _

36. Using the distance formula, find PQ X ‘i;\? = - :t:@
and RS to the nearest tenth. Then e (%}
determine if PQ = RS. Pa = RS b (M, 2)

(10, ;5)

Y

0= (a-Conr (39> RS =Ja- i+ (325 [+
PR={EY+ (-)* RS =02 (my  [ILTIEE
R =25+ =J2u R =1 2520 Vv

37. Using the Distance Formula and the
Pythagorean Theorem, find the distance,
to the nearest tenth, from M(4, —3)

to N(—5, 2). -
: e ———— 53-+ qz ____02. __{ :
YN = { (MW + (-3:2) 35 + gl =2
N = (@) + (BY* O =c>
WMN = 81+25 =\ oy C=\ 10\

1-7 Transformations in the Coordinate Plane

Identify the transformation. Then use arrow notation to describe the

transformation.
38. D’ 39. K Vi
E G
A B’ £ m 8
A B J
E & M
L
D

| TRefiecim @emhon
BB —> ABICDE JEUm 23 KL M

1
Sl Ao SR SR T 0.
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40. Find the coordinates for the image of figure JKLM
after the translation (x, y) — (x — 1, y + 2). Graph \)u AN
the image.

(3 ) o +
m‘(-_—a,.o)f_ o

41. A figure has vertices at A(2, 4), B(—5, 1) and C(0, —3). After a
transformation, the image of the figure has vertices at A'(5, 6), B'(—2, 3),
and C'(3, —1). Graph the preimage and image. Then, identify the
transformation.

Ane(— AR
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